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Starter — Let’s warm up our brains

How far can you count forward
and backwards in 8s?

0, 8, 16...
96, 88, 80...



Starter — Let’s warm up our brains
1) How many cakes?
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2) Write a multiplication equation to represent
the apples.
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3) Complete the number track.

8 |16 |24 48 64 30 96
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Use your fingers to help you recite
the 8 times table to 12 x 8.

v

I1x8is 2x8is 3x8is 4x8is 5x8is
8 16 24 32 40



G

8 16 24 32 40 48 56 64 72 80 88 96

G

8 16 24 32 40 48 56 64 72 80 88 96



40

/] X 8 =

30




40 30

X 8=172




How can we use these octagons to help us
with the 8 times table?

1 octagon has ___ sides. 1x8-=
2 octagons have ___ sides. 2x8=
3 octagons have ___ sides. 3x8=
4 octagons have ____ sides. 4x8=

5 octagons have ___sides. SXx8-=



What calculations does the picture show?

LR




What calculations does the picture show?
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Guided Practice
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Use counters to help you solve this calculation.

8 =

lo0000000
1 00000000
© Q0000000
00000000

00000000
00000000
00000000




1
0 Q0000000
- Q0000000

00000000
00000000
o« 00000000
<~ 00000000
- 00000000

00000000

00000000

Use counters to help you solve this calculation.



Use a bar model to help you.

| bought 8 packs of pencils. A
Each pack has 6 pencils inside.
How many pencils do | have?

% 1

6+6+6+6+6+6+6+6=
8x6-=
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What is 16 X 8 Have a think m

[ | started from 12 X 8 and

counted up 4 more 8s

12 X 8 +8 +8 +8 +8

N Y YV

0 9% 104 112 120 128




What is 16 X 8?

| added 10 X 8 and 6 X 8 to
make 128

128
A

30 48

10 X 8 =80 6 X8 =48



Over to you -
Independent questions



Problem Solving

Boats con be hired on a lake.

Thera are 5 large boats and
8 small boats on the lake.

Each boat Is Tull.

How many people are on the lake?




Reflection — Traffic Lights

Il multiply
by 8.

... divide
by 8.

l recite the
8 times
table.




